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QUESTION BOOKLET

This question paper contains 170 questions. / 38 IS T H 170 T & |
All questions are compulsory. / @t 997 31f4am § |
One question carries half mark only. / Teh I3 o foTT haet amen 37 8 |

Maximum Marks : 85 HAfehan 37 : 85
Time : 2 Hours AT : 2 90
1.  Plastic money refers to the credit card issued by

(A) RB.L (B) Commercial Bank
(C) Investment Bank (D) NBFC
CRF g AH R %GRS R e Shee S |

(A) RB.L (B) @I s (C) Fawss (D) NBFC

Industrial reconstruction corporation of India limited was set up in
(A) April, 1971 (B) April, 1973 (C) April, 1972 (D) April, 1974

Tefea {entgamTd SIANeM 3T sfea fafies i wom g3 off
(A) 3, 1971 (B) 3T, 1973 (C) 31, 1972 (D) 31, 1974

The maximum period for which loans are granted by IFCI is

(A) 20 years (B) 25 years

(C) 15 years (D) Depend on the project
IFCI gr fohe STferehaw S7afe deh swv1 fean Srar & 2

(A) 20 (B) 25ad (C) 154 (D) ufeEsHT W el

One Rupee note is signed by the

(A) Governor of R.B.I.

(B) Finance Minister of India

(C) Vice Chairman of Planning Commission
(D) None of these

T &9 I Hie T fopeeh sramen g 8 ¢

(A) R.B.L TR (B) WTd o forct wlt

(C) ST HATENT o IqTeAL (D) &4 @ s T&

Under the Lead Bank Scheme, the scheme of finance is prepared by
(A) R.R.B. (B) Commercial Bank

(C) Lead Bank (D) R.B.L

FTT Seh FISHT o Jid foret shi ASHT G HY STt 2
(A) RR.B. (B) anfuifsgss &6 (C) 3mmfiiss (D) R.B.L

3 Code No. : C-529/2019/Series-A



10.

11.

The rate at which one bank give loan to the other bank is called
(A) Bank Rate (B) Prime Lending Rate
(C) Discount Rate (D) Lending Rate

78 U 57 o T S el S ki K <l 7, FEd §

(A) S (B) YTHE@FNTR (C) T (D) e

The sponsoring Commercial Bank’s share in R.R.B. is

R.R.B. # w41 anforfses o 1 feedr 2

(A) 30% B) 15% (©) 35% (D) 50%
Statutory Liquidity Ratio means certain percentage of the bank deposits kept with
(A) R.B.L (B) Commercial Bank itself

(C) LMF. (D) None of these

Fiferfere qEetdT 34T & areqd o T8 1@ ek ST St FHfvera wfaerd |
(A) RB.L (B) @ anfurfsss ok

(C) LM.F. (D) 3T § I T&I

Which of the following is a selective credit control ?

(A) Bank rate policy (B) Open market operations

(C) CRR policy (D) Regulation of customer’s credit
frfetiaa o & S |1 T = e R 7

(A) S g Tifers (B) Tl ISR 6l Hishamd

(C) CRR ifa (D) g 1 3KV faf=m=

CRAR means

(A) Capital to Risk Adjusted Ratio (B) Capital Ratio to Asset Ratio
(C) Capital Ratio to Adjusted Risk (D) Capital to Risk Asset Ratio
CRAR @ A &

(A) Ffreat g {ieh Teaees WAl (B) hftreet 9ot ¢ e WA
(C) hftreat oo ¢ ugeree {eh (D) Hftreet g fieh wore A

Credit multiplier means

AD 1 AP
(A) 2p B) Crr © p (D) Both (A) & (B)
U7 TUTeh (PhEIE Tedel*i) | aread 8

AD 1 AP :
&) p (B) CRR © ip (D) (A) 7T (B) M
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12.

13.

14.

15.

16.

17.

Dumping means selling goods

(A) below actual price (B) above actual price

(C) atpar (D) All of these

ST & qTeot g a3t o faska

(A) Tl HHA I FAHTAR  (B) dTEdideh hival & 31fereh Shidd |
(C) ar=ifereh shimd T (D) g aHl

Export Import Bank of India was established on
(A) Jan1,1983 (B) Jan1,1984 (C) Janl1, 1981 (D) Janl, 1982

T hi 31T ot ook <ht v g3 oft

(A) 1SH=d, 1983 (B) 13Had, 1984

(C) 1SHa=d, 1981 (D) 1SHad, 1982

The headquarters of Asian Development Bank (ADB) is in

(A) New Delhi (India) (B) Manila (Philippines)
(C) Tokyo (Japan) (D) Colombo (Sri Lanka)
TR SaeTie S o qEdTerd 8

(A) 7% feeeht (wra) 1 (B) wen (frefidia)

(C) TR (SMaM) o (D) st (Hfieiepr) o
India’s deficit in balance of payment can be better described as
(A) Development deficit (B) Sustenance deficit
(C) Non productive deficit (D) Consumption deficit
T ST SFTAT T BT 39 Teh SEaR ST ST Hehal &

(A) e =mer (B) IMER HTeT

(C) 3FeaTesh et (D) @Ud HTeT

The concept of income terms of trade is given by

(A) Viner (B) Ellsworth  (C) Taussig (D) Dorrance
TR o 3T TE] <hl HehotHT &1 75 &

(A) 9ERE  (B) TwEEd gl (C) TSEMEH (D) SREEN

The SDR’s scheme came into existence in

SDR <h T forg o sAfeae § 3118 2
(A) 1969 (B) 1971 (C) 1949 (D) 1970

5 Code No. : C-529/2019/Series-A



18.

19.

20.

21.

22.

Movement of non monetary gold is include in BOP ?

(A) Yes (B) No

(C) Depends upon situation (D) Can’tsay

BOP # 3rifges Tt 1 i smfirer 8 2

(A) = | (B) I

(C) FRafamffz (D) %S g & Tohd |
The economist who was associated with WTO draft document is
(A) J.N. Bhagwati (B) A.K. Sen

(C) T.N. Srinivasan (D) Avinash Dixit
WTO g% SreRpie & Hefera st 8

(A) T, TTed (B) T, T4

(C) d.uq. shiframm (D) 3feame Sifera

Software technology parks means

(A) 100% EOU for exports

(B) 100% EOU for software technology

(C) 100% EOU for import of software for re-export
(D) All of these

TTFESIT SIS Teh | ATeTd 8

(A) it % faw 100% EOU

(B) @RI ToRTeAtsil = fefT 100% EOU

(C) AT % feTu |igee=r i TR o feT 100% EOU

(D) ¥g |l

The term “Audit” is derived from a Latin word “audire” which means

(A) toinspect (B) toexamine (C) to hear (D) to investigate
Afe w1eg “audire” | Ug “Audit” SqcaTied & Freent 319t 2

(A) SE®HET (B) Fl@m s (C) g (D) ST=INUT AT

Concealment of shortage by delaying the recording of cash receipt is known
as .

(A) Embezzlement (B) Misappropriation

(C) Lapping (D) None of these

Tehe Tfe o SAfreras o foete g st i feumT Saerd 3

(A) oA (B) STHISH (C) wife (D) T 8 HIE T2
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23.

24.

25.

26.

27.

Why do auditors concentrate their efforts on material items in accounts ?
(A) Because they are easier to audit.
(B) Because it reduces the audit time.

(C) Because the risk to the accounts of their being incorrectly stated is greater.

(D) Because the directors have asked for it.

37heTeh I § |t TGl W T oh ATH F1 Sheid hid & 7
(A) eI I8 Jhetur o T T R |

(B) Iifeh g 37ehaTuT TH 1 HH HLAT 2 |

(C) ifeh oRET T TToTd a2t shi S o1 SIREH 31feh BT 2 |
(D) Fifep frdzreh 3 38 fou qm 2 |

An auditor is liable for his annual audit of accounts to
(A) Creditors  (B) Debtors (C) Bankers (D) Owners
Teh 3cheTeh 37U STTeh oi@Teh 3Tehaqul % foru femwreh Wi ot 2 2

(A) e (B) <eRi (C) st (D) wfetehi
Audit of a bank is generally conducted through

(A) Routine checking (B) Couching

(C) P &L Audit (D) Balance sheet Audit

TR ShT FHeheToT FTHT=IaT a8

(A) S g (B) s gr

(C) P & L 37h&u grI (D) T A 37heT0T R
Depreciation is based on

(A) economic life of asset (B) declared life of asset by supplier
(C) normal life of asset (D) value of asset

o B8 TN &Il &

(A) ufa & 3 31y (B) Tufe <t 3mmqfcehal grT =Nfyd 31
(C) T i TTIROT 311 (D) Hufd s o

An endowment insurance policy can be taken in respect of

(A) Fire Insurance (B) Accident Insurance

(C) Life Insurance (D) Marine Insurance

fererer TTaer o weh TRt oftm et <ft S et & ¢
(A) A& (B) gHem s (C) SeA s (D) @HG S
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28.

29.

30.

31.

32.

No one will try to commit an error or fraud as the accounts are subject to
(A) Scrutiny (B) Internal Control

(C) Audit (D) None of these

%13 oft Afea araTa<t a1 Ffe S i HIfRTeT T ST Fifeh ohaTeh fownefi g
(A) S (B) 3tiafieh fewr (C)  3ieheor (D) ¥ ¥ s &

Primary responsibility for the adequacy of financial statement disclosures rest
with the

(A) Auditor (B) Management (C) Auditor’s staff (D) Central Govt.
forcfier foramott & Weher i qarierar 1 yg@ e FUE A2 |

(A) FeheTeh (B) wSEH (C) FhHHEE (D) g TN

Audit is conducted by

(A) Cost Accountant (B) Company secretary
(C) Chartered Accountant (D) Any person
3FeheTor feparm ST 2

(A) AN ST@TITA GRIT (B) st i g
(C) =TS Th1SEe gl (D) fepelt st safe gr
The investigation is related to critical checking of

(A) internal records (B) particular records
(C) accounting records (D) external records
3TN &I feraemTeres e A gefad # |

(A) 3Taies firerEl (B) fomiw srfirerat

(C) <r@ieh Afrerat (D) eI afirerat
Which type of audit is conducted by the internal audit staff ?
(A) Cost Audit (B) Secretarial Audit
(C) Internal Audit (D) Tax Audit
JTANER 3TeheTul T G fohd SRR ST 3TehaTuT fohart STTaT & 2
(A) T 3TheTur (B) Hfaeia 37ehetor
(C) 3ATafies 3Thetor (D) T IThIT

Code No. : C-529/2019/Series-A 8



33.

34.

3s.

36.

37.

A performance audit can be a review of a programme to assure that it is

(A) complete (B) satisfactory

(C) fool proof (D) satisfying its objective

U frsare Srehervr forelt Wi =t qAdietur 91 giafved s & foTe &1 ehat § o 7
(A) SR | (B) HANUEE |

(C) TE? | (D) 3E3F I TS B T2 |

External Auditor is responsible for

(A) Internal audit

(B) External audit

(C) Both internal as well as external audit
(D) Management audit

STl 37eheTh $Heh o1t ITErRA 3

(A) 3Tieh FHehetor (B) &I 3ehaoT

(C) ATeh 37 STRT g 37ehetur (D) TEUT FHHE

An audit programme is set of which are to be followed for proper
execution of audit.

(A) orders (B) directions (C) instructions (D) rules

Teh 37eheTUT hTishH 1 T 7, S 3TeheTu] & A Fsared o fote srgafea
BAIR |

(A) e (B) fewmfigeii  (C) M (D) i

Working papers helps in proper of audit.

(A) planning (B) performance

(C) planning and performance (D) execution

ekt YT 3TeheTul o /<h1 A H TETIdT i & |

UNIRERIEE (B) Trsured

(C) e 3tk fsarea (D) HET=IA

Which of the following is not a technique of obtaining evidence ?

(A) Inspection (B) Observation (C) Enquiry (D) Investigation
frfetftaa & & i =t areg we v i wfafr T e 7

(A) S= (B) IEcsd  (C) IBa® (D) 3T=mNY

9 Code No. : C-529/2019/Series-A



38.

39.

40.

41.

42.

Minimum essential work to be done is and rest is according to
circumstances.

(A) Standard Programme

(B) General Programme

(C) Essential Programme

(D) Relevant Programme

fopan ST aTet =T STavEe & 3R aTeht wftfefei & STER 2 |
(A) T HRIHT (B) T HRIHH

(C) ATIvIH HIHY (D) 3TNRT Hrishy

It is the duty of the auditor to maintain of the client information.

(A) Accuracy (B) Followup (C) Secrecy (D) Confidentiality
FATIE (UTEh) THRTI <hl /hT T TGS heT 1 haed @ |

(A) ufrgar (B) AT (C) T (D) Tergermfiaan

Seniors can supervise the audit work performed by the juniors by examining their

(A) Records and Documents (B) Performance

(C) Behaviour at work place (D) Working papers

afiss hiasat gry fsuTfea 3Teheror 61l o1 URiaeTur 3ok o Trteror g =
HhA € |

(A) 3Ifirer@El 3R i@l (B) fisare

(C) 1 T W HIER (D) afeh g

Where the vacancy is caused by resignation of auditor, such vacancy shall only
be filled by

(A) C&AG (B) Central Government

(C) Company in general meeting (D) Board of Directors

ST&T 37oheTeh % YecTT H U Rerddl 2Id) & 98 Ue Farddl shael % g 9 S |

(A) C&AG (B) g TR

(C) T |1 | ot O BERIERES
Auditor has to report to

(A) Management (B) Owners

(C) Government (D) Appointing authority
3TeheTeh hl ! Wldeled o1 =Tied |

(A) T (B) Tfetehi (C) TR (D) fyfea wrfererdl

Code No. : C-529/2019/Series-A 10



43.

44.

45.

46.

When auditor does not have any reservation / objection regarding the
information under audit, then he issues an

(A) Qualified opinion (B) Averse opinion

(C) Unqualified opinion (D) Negative opinion

S 37eheTeh oh UTH 37eh&TUT oh 3TATTd SIehR! o HeH H his forINTiereh /3t = &
@l 98 ST oL HehelT &

(A) TEITAHISS AT

(B) Wicepet AT

(C) SFAHETTABIZS T

(D) TmyTenss rfema

The auditor report should be signed in the name of the
(A) audit firm (B) personal name
(C) either (A) or (B) (D) None of these
FFeheTuT FaTe 38eh AT & BEAEd BT =Ry

(A) 3ifge wd (B) =afedra A8

(C) (A) Fed (B) HA IS 0t (D) 98 9 IS TE

Whether the management can restrict the scope of work of external auditor ?

(A) Yes (B) No

(C) Insome cases (D) If shareholders permit
RN YU ST FHohaTeh oh BRI Dl TATCT HL Hhal & 7

(A) & (B) T

(C) Fo Hmal | (D) e FEREREh Al §

Section 227 (1A) requires an auditor to inquire whether the position as stated
in the books is correct, regular and is

(A) healthy (B) sound

(C) misleading (D) not misleading

9T 227 (1A) 37heTeh § 39 Wi hl 3107 it 2 Toh qoaeh o gunis 8 feufa =&,
frafia 3t g Tt |

(A) «Yg (B) 3gfa (C) 9k (D) IYHH

11 Code No. : C-529/2019/Series-A



47.

48.

49.

50.

51.

52.

The duties of an auditor are

(A) many and general (B) many and specific

(C) general and specific (D) many and varied

37oheTeh % hasd &

(A) I IR A (B) 3 3R ffgaa

(C) @ 3R ffeaa (D) 3T 3R fafae

In case information is not supplied to the auditor, he can report the same to the

(A) Board of Directors (B) Managing Director

(C) Members (D) C.E.O. of the company

fe THhRT 3TheTeh ohi TGH Tal shi AT & T 98 ITeh! IS T Fhal &

(A) T et = (B) wee-fiewe =i

(C) HeEi &l (D) &t % CEO =l

Every auditor appointed under Section 224 (1), must intimate to the registrar

within days of the receipt of intimation of appointment from company.

9T 224 (1) % ST PR o S5e FY, S & R % 9T 6 e ¥
femt # TR 1 319w giad 1 =1fe |

(A) 15 (B) 21 (©) 30 (D) 18

First directors are appointed within of the date of the registration of

the company.
(A) onemonth (B) twomonths (C) three months (D) six months

U] o TTEGRH ol A o6 H e feereh e 2 & |
(A) THUE (B) aiHrE (C) diumE (D) : &

The term company is defined under which Section of the concerned Act ?
(A) Section 3(1) (B) Section4(2) (C) Section 2(4) (D) Section 1(3)
Heifera srfurfaem 6t fope o % siarid ot oe aiefia § 2

(A) &/ 3(1) (B) 4®4(2) (C) arm24) (D) " 1(3)

Maximum number of persons in case of partnership banking business is
TeieR ST STa@T™ o Ao § 31ferehan Safdaan i g 8
(A) 10 (B) 20 (©) 30 (D) 5

Code No. : C-529/2019/Series-A 12



33,

54.

.

56.

37

58.

% ?

Under which Section a private company can automatically converted into
public company ?

fepar & 3 it Teh WTgee Ut Tord: Ueh Ufscieh shuHl | ®UTaid &1 STl § 7

(A) 34 (B) 43 (C) 53 (D) 35

Liability under which Section may be imposed only if it is proved that the
companies business has been carried on with a view to defraud the creditors ?

HYAT T HIH™ AHE bl GG ¢ & 390 U TehaT ST @1 2 48 giferd giar & ol
T ferm & o 37dvid o] 21 Fehd B ?
(A) 540 (B) 541 (C) 542 (D) 543

In case of non-profit making companies books of accounts are required to be
preserved for how many years ?

3T-AhH HUTT 6T AGT-J&Aehi bl Teha T Teh TUTARL TGT ST MY ?

(A) 2 (B) 4 () 6 (D) 8 ® “

According to which Section name of company should %“ ‘ or “Pvt.

Ltd” ? { |
%H%Tmésargaﬂaﬁq‘-ﬁ%qmésmﬁ‘l " 1 “Pvt. Ltd” (w1. f&1.) B

(T ?

(A) 10 (D) 13
y M { ‘ch 1 with unlimited liability wants to convert into

(B) special resolution

(D) none of these

Eﬁaﬁaﬁmmﬁamﬁﬁ}ﬁmﬁamméﬁmmﬁ

(A) TR e (B) forow w&ame
(C) IS FTawAHdl Tel (D) 3T & IS Tl

Company should file a prospectus in case of conversion of private company
into a public company within how many days from the date of resolution ?
(A) 30 days (B) 45 days (C) 60 days (D) 35 days

Froft Tanfire areft st & e TaTfied aTeft ot § wuiaRer o fohed e i
ferTes < foha Tl 5 huft ol Tfarator wisel st =1iey. ?

(A) 30f (B) 45f& (C) 60fe (D) 35fe

13 Code No. : C-529/2019/Series-A



59. How many members should signed the MOA in case of private company ?
Tosft st o fere o foha Te&al ol MOA BEATeIRd AT =miay ?
A) 1 B) 2 © 3 (D) 4

60. Any change in the address of the registered office must be communicated
within
(A) 15 days (B) 1 month (C) 1.5month (D) 40 days
TTEeS ATTha < Ugd § fopeft oft aftardH sl fehan feat # e e e =fe ?

(A) 15 fed (B) 19m® (C) 1.57m® (D) 40fe
61. Ultravires loans granted by the company are

(A) void (B) voidable (C) wvalid (D) illegal

(A) & (B) IFHUHT  (C) A (D) 3FdY
62. Capital clause of a company can be changed with the permission of

(A) Company Law Board (B) Registrar

(C) Court (D) None of these

U1 % hfteet Feiiel bl feraeh! el & sreer o qehd1 8 ?
(A) HEATEE (B) TR (C) =rTer™ (D) T | g T&l

63. Who conceives the idea of the business ?
(A) Directors (B) Promoters (C) Auditor (D) Secretary
hiv AT o Tl sl Tohe HLAT 2 ?

(A) Frewms (B) Yad®h (C) 3Theth (D) afaa

64. Pre-incorporation contract is also known as .
(A) provisional (B) prelimmary (C) illegal (D) legal

Ue -HHTYH HieT @l I8 ot #Ed @
(A) JEdas  (B) YRR (C) 31ay (D) dg

65. Which prospectus were issued in case securities were issued in stages ?
(A) Deemed (B) Shelf (C) Red herring (D) None of these
TR =1 aareh! & TR b 9T 3 TTHet H ShiF & ferawor S fepu ST & 2
(A) fere (B) % (C) T&m (D) ¥4 ¥ IS A&
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66.

67.

68.

69.

70.

Who declare a company as a sick company ?
Teh U1 hl U ShUHT Shi< TIYA LT & ?
(A) BIFR (B) MRTP (C) FERA (D) RBI

When the shares are transferred to X from Y. Y will be a of the company.
(A) member (B) shareholder (C) partner (D) None of these
S 3TN ol X A Y bl S&Aaid fhU SITd &, Y h91 <t TR |

(A) He= (B) 3mEns  (C) HERER (D) T8 § IS T

A void contract is

(A) Anillegal agreement

(B) Partly valid agreement

(C) Ceased to be a valid agreement
(D) None of these

T Y[ dfdel 8

(A) U G e

(B) 3731q: 9y 3EY

(C) 99 FHEY % €Y H T g 16T ST
(D) T T IS TE

An agreement entered into before marriage between a Muslim wife and husband
that the wife shall be at liberty to live with her parents after marriage is

(A) valid (B) void

(C) voidable at the option of husband (D) illegal

IS Tge! Teh &y Tet 31 ufd <6 <fier 78 S1gee g37 o ueht It o ww=ima 31oe
T o % @1t T o foru i 2 | o8 ey

(A) q92 | (B) IAT |

(C) Tfe <l 3TR & ITehtufiT 2 | (D) YR |

SDR is a
(A) Gold paper (B) Bond (C) White paper (D) Gold
SDR 8 T
(A) Ui I (B) dfUg (C) vad IR (D) @i
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71.

T2.

73.

74.

75.

Non-convertible debenture refers to

(A) owner’s capital (B) loan capital
(C) short term capital (D) All of these
I K0TS | T §

(A) wamft < s (B) 3Ror it
(C) SAHhIAH Gsit (D) g+t

Goodwill arising on amalgamation is to be
(A) retained in the books of transferor company
(B) amortized to income on systematic basis
(C) adjusted against reserves and P & L A/c
(D) Either (A) or (B)
T I~
(A) 37Tk HU hl Jeaehi A Tfqenfa gHT =fee |
(B) IafEd YR 9T 37 1 IRINEH BT 7 |
(C) 3TRf&Ta 37T 1Y 3T BT W o foreg TumRIfSd BiH1 =T |
(D) (A)¥1 (B)HE IS i |

A contributory is a

(A) Creditor (B) Shareholder
(©) Debenmre holder (D) None of these
Tsh SRl =l

(A) oER (B) 3TIYUTH (C) FUTFERS (D) 3TH H g T8l

The cost, volume and profit relationship is described by the equation Y = 30,000
+ 0.7 X, in which X is sales revenue and Y is total cost. The B.E.P. will be
AT, T 3T 19 e sl FHRET Y = 30,000 + 0.7 X gRT < Siar & e

X forsha 9% 3R Y o @1Td ® | B.E.P. &I
(A) 10,00,000 (B) 12,00,000 (C) 9,00,000 (D) 8,00,000

1 2 1
X, Y, Z are partners in the ratio of 75, 3 and 10° The new ratio of Y and Z, if X
retires will be
1 2 1 . .
X, Y, Z5, 53 {5 A § AR & | Afe X e &dr e df Y 3t Z 1

3T BRT
(A) 13:7 (B) 2:1 (C) 7:13 (D) 4:1
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76.

Tl

78.

79.

80.

81.

82.

Realisation Account is a which type of account ?
(A) Real (B) Personal (C) Nominal (D) None of these
T WA T3 ST T WTAT ] 7

(A) dITEdfaeh (B) =faad (C) TffFe (D) T8 I g &l

Which of the following is a period cost ?
(A) Variable cost (B) Overhead cost (C) Prime cost (D) Fixed cost
frefafga o & <F @t safaarma g 2

(A) e @rE (B) BT ar@ (C) yg@ard (D) ferard

If the share of ¥ 10, on which ¥ 6 have been paid is forfeited it can be re-issued
at the minimum price of

¢ Tk T 10 1 T 6 WRUTS §U I3 I STed AT ST & A1 9 Fohd =iaw hiFd W 4H:
ST foha ST wehe 2 7
(A) T7 (B) 26 (C) T 10 (D) T4

If the profit is ¥ 15 and margin of safety is 20%, the contribution will be
Ife @19 T 15 2 31 geen €= 20% & 1 319eH g

(A) T3 (B) %12 (C) 75 (D) %30
Which of the following ratio have negative relation with profitability ?
(A) Operating ratio (B) Gross profit ratio

(C) Net profit ratio (D) None of these
frefafiaa o & fore STUTd 1 SThREhdT & SKUMTcHS Hae BIaT 8 7

(A) TS AU (B) @heT TTH YT

(C) g @Y II (D) T8 ¥ IS TE

Life of assets is 5 years, initial outlay is ¥ 50,000 estimated. Annual cash flow
is ¥ 12,500, IRR will be

T <t 31 5 99 B, IRk &FTd T 50,000 STTHTG B | 1fieh Fehg a8 12,500
2, a1 IRR &
(A) 8% (B) 10% €) 12% (D) 14%

First generation of computers was used in
PRI h! T G T ITAM 36 SR 53T 1
(A) 1930-1945 (B) 1946-59 (C) 1915-1940 (D) 1910-1925
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83.

84.

8s.

86.

87.

88.

Cost behaviour analysis applies to

(A) Retailers (B) Wholesalers

(C) Manufacturers (D) All entities

AT AR feetyul S Bl 8

(A) Geu fesharati = (B) ehsig fersharai sl
(C) Tafmiarsti =t (D) wefi =i <

The variable costing method is also known as the

(A) Direct Costing Method (B) Indirect Costing Approach
(C) Absorption Costing Method (D) Period Costing Approach
giEdeie ArTd fafer st 38 A 8 off ST ST 8

(A) JeI& AT fafy (B) 3T ANTA 3T
(C) FHTEYH AN Tty (D) 3rafy A AR
CVP analysis does not consider

(A) level of activity (B) fixed cost per unit
(C) wvariable cost per unit (D) sale mix

CVP fageiyu 9 & 78 WEar @ -

(A) TeRaTeheTTa o1 &R (B) Wi 3epTs R et

(C) Wi geTS uiardreiiet T (D) Tersr Ty

The measure of central tendency listed below is

(A) The raw score (B) The mean

(C) The range (D) The standard deviation
ERBCINE ARSI R

(A) YR @R (B) W& (C) W (D) 9 faaem

If the arithmetic mean of 20 values is 10, then sum of these 20 values is

g 20 et o1 FHIR AT 10 2 a1 57 20 T3 1 I 8T

(A) 10 (B) 20 (C) 200 (D) 20+10

If the data contains an extreme value, the suitable average is

(A) Mean (B) Median

(C) Weighted Mean (D) Geometric Mean

Ife Ten! T Ueh 3T Yoot TS B a1 U 3719d 7

(A) H1Ed (B) H=H (C) wii@He (D) TUIRR HIed
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89.

90.

91.

92.

93.

94.

95,

96.

Geometric mean of 2, 4, 8 is

2, 4, 8 T TUT AT 3

(A) 6 (B) 4 (C) 1473 (D) 8

The Harmonic mean of the values 5,9, 11,0, 17, 13 is

(A) 9.5 (B) 6.2 <) 0 (D) impossible
5,9,11,0, 17, 13 Hoi o1 gcH AL &

(A) 9.5 (B) 6.2 ) 0 (D) IrERd

The average are affected by change of

(A) Origin (B) Scale (C) both (A) & (B)(D) None of these
3a 35 IiEa & TTfed giar & -

(A) T ‘ (B) anm

(©) (A) 3R (B) TH (D) 8 & g T

Second moment about mean is

(A) Coefficient of variation (B) Mean

(C) Variance (D) Standard deviation

e <61 Tgelta ward @

(A) fo=uumss (B) A (C) feremor (D) A e

If mean is 25 and standard deviation is 5, then coefficient of variation is
Ife arexr 25 3R A o 5 2 a1 oo 1ores 2
(A) 25% (B) 20% (C) 100% (D) 80%

Probability of failure in binomial distribution is denoted by

feue s © faerar <kt wifrerar =1 ferereh g gerian SITaT 2 2
A) p=q+1 B) p=q-1 (C) q=1+p (D) q=1-p

Maximum value of correlation is
TEHE ol fehad qod 7
(A) 2 (B) 1.5 <) 1 (D) 0

In a week the prices of a bag of rice were 350, 280, 340, 290, 320, 310, 300,
the range is

Teh IwTE § T b It <hl hima 350, 280, 340, 290, 320, 310, 300 off, 1 9T0H &
(A) 100 (B) 60 (C) 90 (D) 70

19 Code No. : C-529/2019/Series-A



97.

98.

99.

100.

101.

102.

The concept of economic planning in India has been derived from

(A) USA (B) Russia (C) Australia (D) UK
RA | 37fYeh s <l Hehean fohe@ T RIS 2 7

(A) ITHT (B) & (C) sgfen (D) IH
The institution which estimates national income in India is

(A) RB.L (B) NITI Aayog

(C) Central statistical organization (D) Finance ministry

TR | TS 3T hl 0T hi FTei TEAT 2

(A) RBI (B) fifer s

(C) s TifeTehl Tre (D) Tora waTe™

Share held for less than 12 months are

(A) long-term capital asset (B) short-term capital asset
(C) exempted capital asset (D) None of these

12 98 & &Y G0 % fo7Q 91itd 3791 §

(A) drefeprela def gufd (B) 3TcushTefiq Ysht Hufd
(C) feriifera ooft wufa (D) 38 & H1E T
Interest on RPF is tax free up to

RPF 9T TSl oY o &

(A) 9.50% B) 8% (©) 9.75% (D) 12%
Income of minor child is included in the income of

(A) father (B) mother

(C) whose income is higher (D) none of these

ITEIE STeTeh shi 3T feherehl 3111 § IMfleT <t STt & 7

(A) foar (B) ®rn

(C) Tomeht 31 3nferss & (D) 3T § g T&I

Salary received by MP is taxable under

(A) Salary (B) Professional income
(C) Income from other sources (D) Capital gain

MP @l ITed I fehereh STaiid sl IR 8 7

(A) ocH (B) SAGHIRIH 3T

(C) 3 &di § ™ (D) TS afg
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103.

104.

105.

106.

107.

Tax deducted at source is
(A) Treated as profit
(C) Treated as receipt

Hid W HT el
(A) AT A ST R |
(C) wifed oA STt 2 |

Pension is taxable under
(A) Salary

(C) Income from other sources

e (e o) a3 2

(A) oa % 3T

(C) 3= Eid | 3 & A

Skimming pricing means

(A) lower charging in beginning
(B) higher charging in beginning

(B) Treated as expense
(D) None of these

(B) @ HFTCTR |
(D) T § IS T

(B) Professional income
(D) Capital gain

(B) SR 31 & AT
(D) Toft 3fg % siaia

(C) charging as per market in beginning

(D) None of these
feenfiim greeiin & qrert 2
(A) TRY | & FHA HET

(C) YR | STSTR IR FEEAT BT

(B) WR¥ ¥ 3= Sl ST
(D) 3T & IS T

The entrepreneur will get maximum profit at

(A) higher demand stage
(C) at equilibrium

It she 3TfereR AT T SHUTT 7

(A) 3= HIT &R T
(C) HgeH =

Voucher relates to
(A) cash receipt
(C) credit transactions

ISR 3HY FrEfRd 8

(A) ThE U (B) Teha YT

(B) price leadership
(D) at supply

(B) hFd fcd T
(D) 3mgfd @

(B) cash payment
(D) All of these

(C) 3gReFeA (D) g aeft
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108.

109.

110.

111.

112.

113.

114.

Audit done by the employees of the business undertaking is called
(A) Final Audit (B) Government Audit

(C) Management Audit (D) Social Audit
TR ITH o HHATAT G FehaT T 3Tehetur et

(A) 3 3TR&UT (B) THKI 3hedul (C) TEYH Tehel0l (D) HTHINh Tehelvl

FICCI was founded in the year
FICCI I Tro1 forg a o1 15 off 7

(A) 1927 (B) 1928 (C) 1929 (D) 1930
3-D model of leadership is propounded by

(A) Likert Reinsis (B) Kurt Levis

(C) William Riddin (D) Henry Fayol

qcd T 3-D Tied fehe SEaterd fepa ? ®
(A) TR te (B) weafam  (C) faferm Gen (l%%ﬁ‘ﬁ
@

How many companies are included in the SE m
SENSEX ¥ foraft shufraf wrifirer & 2 *ﬂ
(A) 30 (B) 50 1 (D) 25

Performance a 1sal 18 u r
‘t BY organisation (C) staff (D) None of these

Ffew (B) "@measfaw () wwsfaw (D) 3 @+ 78

Insider trading is related to
(A) securities  (B) finance (C) currency (D) production

(A) vfgfeaia  (B) fead (C) g d (D) 3T H

Social cost means

(A) Health facility (B) Pollution by industry
(C) Education (D) Development
TR AT & qTedd &

(A) wrEgeEd (B) 3iEnfes wgw (C) e (D) o
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115.

116.

117.

118.

119.

120.

121.

Del-Credere agent is a

(A) customer (B) buyer
o1 shet Tole B Th
(A) TEH (B) whal

Iso — product curve related to
(A) market structure
(©) productlon

T -3cITE <5 HSTd 8

(A) SNRAETH(B) $maAifdd (C) IdeTd

(C) producer (D) middlemen

(C) 3IdIEH (D) Ternferan (wearee)
(B) price policy
(D) demand

(D) "MH

Consumer Protection Act does not apply to

(A) LIC. (B) Public Sector Bank
(C)_ Manufacturer (D) Govt. Hospital
ST TRETOT ST 38 o TEY BT B

(A) LIC (B) HTESIeh & <hl Seh

(C) fafrmrarat

Operating leverage is a part of
(A) Financial management
(C) Accounting

foTatst gHeht U 9T B
(A) T yees (B) fouom

(D) T 3rHaTedi

(B) Marketing
(D) Business Management

(C) @R (D) SIIEET YU

The Workmen Compensation Act was introduced in

siftrep eqfergfet stfurfrem (shie husias Tee) 39 oY |n g3 o -

(A) 1920 (B) 1923

Which is fixed cost bearing funds ?
(A) Equity Capital

(C) Profit

i ot Tl e g Ffa g v

(A) gHATYSt  (B) ZRUMA

(C) 1935 (D) 1967

(B) Debenture
(D) None of above

(D) & & IS Tal

(C) @™

The cemeteries of the Harappan cities were generally located

(A) within the citadels
(B) near the residences

(C) around the perimeter of the settlements

(D) in the heart of the cities

TS W& h YEGIEE AT fd gid 9

¥ areT
=1 gftfafa o e

(A) TR-
©)

23

(B) A&l % THT
(D) &l & S
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122.

123.

124.

125.

126.

127.

128.

The capital of Vriji was

(A) Awadh (B) Shravasti (C) Kashi (D) Vaishali
EISIEIRUSPIEiR
(A) 3@y (B)  sTeRet (C) et (D) Sreft

Who was the king that sent a request to a foreign king to send figs, wine and
sophists to India ?

(A) Bimbisara (B) Ashoka

(C) Bindusara (D) Chandragupta Maurya

Tore 1T o W Toraft T 1 ST, AU 3R FHeffehal ohi | Hoi shl foret #St ?

(A) fafemm (B) 37T (C) forgam (D) =g |

Who is known as the South Indian Manu ?

(A) Apastamba (B) Uddalaka (C) Rajashekhar (D) Vakpati
fepdr efitor Wt v e ST B 2

(A) ITTE=H (B) 3ETh (C) TSR (D) arRafd

The rule established by Muhammad Ghori lasted for nearly

(A) 200years (B) 300years (C) 400years (D) 500 years
ere TRI g LATiYd SIe feha = e @1 7

(A) 20099 (B) 300 9§ (C) 400 = (D) 500 =

Sher Shah is known as an administrative reformer largely on account of his

(A) market control scheme (B) trading schemes

(C) land revenue system (D) justice, law and order
IIIME <! TohE HROT | SATGTR Teh ISTTHIh GEIHeh o € H AT A 8 7
(A) SR = Fen (B) ST ATSHISAT

(C) Y-TSTEd SFaEdT (D) =, fafer 3 s

Which year marked the beginning of British ascendency in Bengal ?
fore o o1 st H fsrfesT SRR 1 wRw o AT ST & 7
(A) 1651 (B) 1717 (C) 1813 (D) 1858

Who attacked the congress in a public speech and ridiculed it as representing
‘a microscopic minority of the people’ ?

(A) Lord Lytton (B) Lord Curzon (C) Lord Dufferin(D) Lord Canning
R 3T W07 § e W YER fRT o1 3R T i fagen sedar & &9 |

TITTehT TSTTeh ISTAT AT ?
(A) digfered (B) digsad  (C) AlSSHIA (D) WS him
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129. Which of the following is the main cause of major earthquakes ?

(A) Tectonic forces (B) Explosive eruption of volcanoes
(C) Collapse of roofs of mines (D) None of these

frmfafaa & & 59 a1 9l g 1 g HRu R 7

(A) Toadfes sa (B) SSTegRadt sl feehies 3T
(C) @eMi sl &l 1 HeT1 (D) T § IS T

130. An imaginary line joining places of equal temperature is called an
(A) isobar (B) isotherm (C) isohaline (D) None of these
A TTIH 9ol T bl TS aTei] Teh hicdi-h 1@ ol had &

(A) 3MEEER (B) JEIeH  (C) 3M3EiRaEd (D) I € I8 @

131. Caribbean current belongs to
(A) Arctic ocean (B) Pacific ocean(C) Atlantic ocean(D) Indian ocean

(A) 3ATehieeh HEETR (B) I3 HEMEFR &
(C) Tgeliiesh HEEmR & (D) fég wemmr &
132. Which of the following is a non polluting gas ?
(A) Compressed natural gas (B) Liquefied petroleum gas
(C) Both (A) and (B) (D) None of these
frferfaa & & =M = 7-ugrorei | 7
(A) Tdifed urpfaes T8 (B) 7d Ugiferaw 4
(C) (A) 3 (B) S (D) T & HrE T

133. Which pacific people are well known for their good physique ?
(A) Polynesians (B) Micronesians(C) Melanesians (D) None of these
I & Ufatheh T 379 3T IR TS o HRUT I I1d & 7

(A) WifeRfirm (B) wigshHfRE (C) Bemfea (D) 390 9 his &l

134. ‘Fazendas’ of Brazil are examples of
(A) plantation agriculture (B) dairy farming
(C) mixed farming (D) truck farming
sTofiet & “Tomerd” et See @ 7

(A) STEFN  (B) sHIFN  (C) BN (D) HHM
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135.

136.

137.

138.

139.

140.

Which of the following hills runs along the river Son in the peninsular plateau
region ?

(A) Kaimur hills (B) Rajpipla hills

(C) Rajmahal hills (D) None of these

frafafiad 9 & @ =t veifeat TR Ter &7 ® 9 7<) % ST el g3 8 7
(A) <P TETrSAt (B) Ttdiue ygtfeat

(C) TSHee Terfeat (D) & & =hIg TEf

Bandi and Sukri are the important left bank tributaries of

(A) Luni (B) Satly (C) Beas (D) Chenab
et 3R gohel % ST TR <l HETIYY] HERIeh A1cal & |

(A) woft (B) waqs (C) =™ (D) =™
Ankleshwar and Kalol oil fields are situated in

(A) Andhra Pradesh (B) Assam

(C) Maharashtra (D) Gujarat

JTeheAer 37 hetlel do & feud 8

(A) AT H  (B) I@HH (C) megire® (D) T H

Jet fighters and trained aircrafts are manufactured at
(A) Bengaluru (B) Nasik (C) Kanpur (D) None of these
IE BTSSR IR U Tkt T fmior el WA | ?

(A) wTI® (B) i (C) HEE (D) 98 ¥ I Tl

Who among the following proposed the creation of a Preamble before the
Drafting Committee ?

(A) B.N.Rau (B) Jawaharlal Nehru

(C) Sardar Patel (D) B.R. Ambedkar

Freafefaa o @ ferem ey wiftrfa & awer 3@ & famtor w1 T @ ?

(A) . T@  (B) TIREE S (C) TWERUSHA (D) . 3R, IR

The Archeological Survey of India is an attached office of the Department /

Ministry of

(A) Culture (B) Tourism

(C) Science and Technology (D) Human Resource Development
T JTfehaTcISTehet | 31T 3fean fope favmT /Hamera o1 Ush T SRTaa 8 7
(A) FEhid (B) weA

(ORI EEETIE (D) HE FETH fae

Code No. : C-529/2019/Series-A 26



141.

142.

143.

144.

The authorization for the withdrawal of funds from the consolidated fund of
India must come from the

(A) President of India (B) Parliament of India

(C) Prime Minister of India (D) None of these

WA <hl FHTehd i § & iy S1Tawor i wifuesricar stee % O H 3T
=Mfey |

(A) ¥R o Trgufer (B) Wi Heg

(C) WRd o TLTEE (D) 38 9 g &l

After the general elections, the protem speaker is
(A) elected by the Lok Sabha

(B) appointed by the President of India

(C) the senior most member of the Lok Sabha
(D) None of these

AT ATE! o TTTd TIeH T 2

(A) wipaT g faifea (B) WRd o Usgafd gr e
(C) TAIHENT T AT i3 TgT (D) 0 U his A&l

Who among the following appoints the acting Chief Justice of India ?
(A) Chief Justice of India

(B) President of India

(C) President in consultation with the Chief Justice of India

(D) None of these

freferfea o @ i URad % SR ger =iy 6 i s
(A) WA hl §&I IR

(B) R T TsgUfd
(C) YT o & =ATATENST o TSt & Tegdfa
(D) T8 ¥ I8 81

Which of the following states has the largest number of seats reserved for the
scheduled tribes in the Lok Sabha ?

(A) Bihar (B) Gujarat

(C) Uttar Pradesh (D) Madhya Pradesh

frfefaa o @ form U= <l dArshayT | g SHefadl o foe saifees gen o

Hie Afra @ ¢
(A) faEr (B) TSUq (C) I (D) HE e™
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145.

146.

147.

148.

149.

150.

The rate at which R.B.I. gives short term loan to commercial banks is called
(A) Repo rate (B) Bank rate
(C) Reverse repo rate (D) Cash reserve rate

RBI S{UTfSeh sieh! bl SAqmafe o foru f99 ot ot 5071 et 2 39 +hgd @
(A) T (B) e (C) fadime (D) hg fard &

Which is actively involved in drafting the Union Budget of India ?
(A) NITI Aayog (B) Finance Commission
(C) Ministry of Finance (D) None of these

AR o T 97 o &Y H i Afshd &9 § ifad & ?
(A) ffdsmm  (B) fmesmm () @™ (D) gﬁﬁﬁ-ﬁ

‘Stand-Up India’ scheme is associated with oo
(A) All small entrepreneurs (B) All big entrgprenem
(C) SC/ST and women entrepreneur (D) None

(A) Tt B¢ safiE & I |
(C) SC/ST 3R Afgan 1T i ’

r of P ¢ rémain unemployed
(B) alten ﬂoyment 1s not avallable

productivity of workers is low

USSR & ST 3T @

T TR H ISR A & | (B) dehfcueh TSR 39Ty &1 2 |

(C) ¥ h HwaSAEhAT A8 | (D) HfHehi 1 Icargehd = 2 |

Which of the following is not a measure of human development index ?
(A) Life expectancy (B) Sex ratio

(C) Literacy rate (D) Gross enrollment

= o & 9 |1 A forshr erehish 1 AU T8 2 7

(A) Sfaayamn (B) femsmuma  (C) franme (D) & TuirEH

The first satellite which was designed and fabricated in India was
(A) Bhaskara-1 (B) Bhaskara-II (C) Aryabhatta (D) Rohini
WA ¥ Jif¥enfeud 3R ffia wem deemse o

(A) HTERL-] (B) WTEhL-11 (C) v (D) Ufgoft
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151.

152.

153.

154.

155.

156.

Which of the following is electromagnetic in nature ?

(A) a—rays (B) y-rays (C) Infrared rays (D) All of these
frfofaa § @ @ o fagagesha shfa w18 ?

(A) o—fertot (B) y-feptmi (C) 3rated fpti (D) I8 weft

Containers used for transporting strong acids are made of

(A) Steel (B) Stainless steel (C) Polyethylene (D) Brass
Teel FEA] o TG0 H e herd o Bid 8

(A) 39GE (B) WM E@H (C) dWifersfoefm @ (D) e &

Which element plays an important role in blood clotting ?
(A) Potassium (B) Phosphorus (C) Calcium (D) Iron
I TT I R T S B Tgearqut ftreht Famar g 2

(A) TR (B) hITHIH (C) Ffcerm (D) A=

Which of the following diseases is a contagious disease ?

(A) Beriberi (B) Pellagra (C) Diphtheria (D) Scurvy
freferRea = & wia @ U wEfifes W g 7

(A) SO (B) Uemm (C) Tewerdman (D) Tl

If ‘DEMOCRATIC’ is written as ‘EDMORCATCI’, then how
‘CONTINUOUS’ will be written in the same code ?

Ife ‘DEMOCRATIC’ %1 ‘EDMORCATCI’ forar S & @ ‘CONTINUOUS’
o1 34T hig T Hd forar S ?

(A) OCNTNIUOSU (B) OCTNNIOUSU

(C) OTCNINUOUS (D) OTNCINUOSU

Javed’s brother’s sister’s father’s brother is Karim and Karim’s daughter is
Dolly. How is Javed related to Dolly ?

(A) Brother (B) Cousin (C) Sister (D) Uncle
STTAE o WTE <h! S8 oh TUCT 3T WTS hild & 3T i 6l T iefl 8 | g 1 Sieft
o1 g g 2

(A) W8 (B) i (C) =& (D) ==
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157. The first member of the Rajya Sabha from H.P. was

(A) Jaiwant Ram (B) Dr. Y.S. Parmar
(C) N.C. Mehta (D) Chiranji Lal Verma
TemTeIet T & TS [T T YH TG i AT 7
(A) SFe=I TH (B) €. 9M™¥.TH. TWHR
(C) .9, waal (D) fatshierme et
158. Lama Lake is situated in which district of H.P. ?
(A) Lahaul & Spiti (B) Chamba
(C) Kinnaur (D) Kangra
AT gl femmerer wew & fopm e o fa @ 7
(A) @mEre 3 fefa (B) =
(C) Frir (D) wiTel
159. Which of the following projects is related with Chenab river ?
(A) Killar (B) Sissu (C) Thirot (D) All of these
frferiaa o & i wt afEsaT <=7 76 @ gefid 2 7
(A) fereer (B) faeg (C) offtre (D) uE =t

160. Kahika fair is celebrated in which district of H.P. ?
(A) Sirmaur (B) Chamba (C) Hamirpur (D) Kullu
Helen! Aol feameT Yo o forg forel 4 samn Siran 2 7

(A) faEr (B) = (C) =g (D) e
161. Which airport is going to be named after Vajpayee ?
(A) Jaipur Airport (B) Kangra Airport
(C) Dehradun Airport (D) Kullu— Manali Airport
foper gaTST Bt aTeTaelt 1 AT T S @R 7
(A) S TIRE (B) hITSI TITE
(C) <R T (D) Foe]- T TRARE
162. A 70 feet tall Lord Buddha’s statue has been recently unveiled in which state ?
(A) Gujarat (B) Bihar (C) Maharashtra (D) Uttar Pradesh
BT 8§ Th 70 hIe ht §g 1 g 1 ST fohg T=a 4 fepem w8 7
(A) TSI (B) fomr (C) wEmmg (D) I I
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163. When the International Day for the elimination of Violence against women was
observed in 2018 ?

(A) November 22(B) November 25(C) November 23(D) November 26
2018 § RIS Afgettati & foeg e et feaw e mamn o 2

(A) FomR22  (B) ToER25  (C) FEwWR23 (D) JEEH26

164. Which state come out with lexicons of 21 vanishing tribal languages ?
(A) Rajasthan (B) Maharashtra (C) Karnataka (D) Odisha
B Y TSI H 21 T ST WTHISAT o IegehleT ol 0T foha 7

(A) TRIH (B) HERI (C) e (D) 3Aifsam

165. Meaning of the idiom ‘To snap one’s fingers at’ is
(A) to honour someone (B) to greet someone
(C) to beckon someone (D) to be careless

166. Antonym of the word ‘Fortitude’ is
(A) Forgetfulness (B) Generosity (C) Cowardice (D) Simplicity

167. 1wonder if I shall get my history examination.
(A) at (B) in
(C) through (D) no preposition is needed

168. ‘31 1 SN0 TH &

(A) TF (B) U3 (C) d= (D) iRt
169. ‘F=3Ed ° 99 8
(A) wgshife (B) &= (C) dcges (D) Freft Wi

170. ‘3et — 31 o1 Jm w1eg B
(A) -4k (B) 3mI-ga@l  (C) Fmd-gg (D) gEa-<
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KEY SET  (-529 {JR. AUDITOR (POST CODE-672)} SERIES-A

P auid 3w eme @ (Provisional Answer Key) RAfs 03.022009 # i JR.
AUDITOR, POST CODE-672 #) vz when & wafr & afX spafifl @1 wwe aoh & wedd 4 @
amfy g, @ 2 fafea @l (Documentary proof) @ A ST Fatey ¥ g i W Aa 1%
ey ) st e @ wed £ s @ Froa s e-mail R Mt sl Wier 6 e
it w3 BT 14.02.2019 @ 5 w9 aw s smfra & Remda etf ) smfal e s e
wueft wz A, ga Bre, sEErs, ol 9 gftest (Question Booklet) @ ¥ @ e e saw
gfire @ |

| A 35 C 69 A 103 E 137 D

2 A 36 C 70 A 104 A 138 A

3 B 37 D 71 H 105 B 139 B

4 B 38 A 72 B 106 C 140 A

5 D 39 D 73 B 107 D 141 B

6 B 40 D 74 B 108 C 142 C

7 C 41 C 75 D 109 C 143 B

8 B 42 D 76 C 110 C 44 D

9 D 43 C 77 D 11l 5 A

10 D 44 C 78 D 146 C

1 D 45 B 79 C 147 [

12 A 46 D 80 A B 148 C

13 D 47 D 81 D 149 B

14 B 48 C 82 C 150 C

15 B 49 C D 151 D

16 D 50 A A 152 C

17 A 51 A B 119 B 153 [

18 A 52 B 120 B 154 C

19 A C 121 C 155 A

20 B B 122 D 156 B

21 C B B 123 C 157 D

2 D 90 D 124 A 158 C

23 . B 91 C 125 B 159 D

24 D A 92 C 126 C 160 D

25 A 59 B 93 B 127 A 161 €

26 A 60 B 94 D 128 C 162 B

27 C 6l A 95 C 129 A 163 B

28 C 62 C 96 D 130 B 164 D

29 B 63 B 97 B 131 C 165 D

30 C 64 B 98 C 132 A 166 C

31 B 65 B 99 B 133 A 167 C

32 C 66 A 100 A 134 A 168 B

33 D 67 A 101 C 135 A 169 A

34 B 68 D 102 C 136 A 170 B
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